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QUESTION 1

A backup administrator wants to implement image-level backups of their Windows Hyper-V cluster with SMB 3.0 using
Avamar. They would like to perform application-consistent backups of all virtual machines (VMs) in the environment. 

What criteria must be met for this requirement? 

A. VM is online. Integration Components is installed. Guest O/S supports VSS. 

B. VM is offline. Integration Components is not installed. Guest O/S does not require VSS. 

C. VM is online. Integration Components is not installed. Guest O/S supports VSS. 

D. VM is offline. Integration Components is installed. Guest O/S does not require VSS. 

Correct Answer: A 

 

QUESTION 2

An EMC Avamar customer has a SQL database that successfully completed a full backup. On the next night, a
differential was cancelled due to scheduling concerns. What should be considered for the next backup schedule? 

A. Schedule another differential backup at the next backup schedule 

B. Schedule a differential backup after running a tail-log backup 

C. Schedule a full backup at the next backup schedule 

D. Schedule a full backup after a tail-log backup 

Correct Answer: C 

 

QUESTION 3

A customer is successfully running full backups of their Oracle database nightly. They have decided that they need to
start backing up the database at Level 1 during the week. They change the dataset to start performing Level 1 backups;
however, the next backup ran as long as a full backup. What would have caused this to happen? 

A. A Level 0 backup had to be performed prior to a Level 1 backup being run. 

B. The database is not configured to allow Block Change Tracking. 

C. The amount of data changed in the database is too large for a Level 1 backup to be performed. 

D. Oracle does not support Level 1 backups after a full backup. 

Correct Answer: A 

 

QUESTION 4
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An EMC customer has an Avamar server integrated with a Data Domain appliance. Their administrator noticed in the
Avamar Administrator GUI that the Data Domain status bar icon is showing the Data Domain system as unresponsive.
What is the most likely impact of the problem? 

A. Avamar cannot retrieve information from the Data Domain system. However, backups and restores can continue
during this condition. 

B. Avamar cannot connect to the Data Domain system, or the Data Domain system is disabled in some way. Backups
and restores do not occur during this condition. 

C. DD Boost cannot be used for backup operations. 

D. Only recovery operations can be performed. 

Correct Answer: A 

 

QUESTION 5

A Business implemented SharePoint 2010 in their environment and uploaded many business documents onto the
SharePoint from multiple file servers. They also set up backups of their SharePoint farm with the Avamar SharePoint
VSS plug-

in. 

They discovered that backups of their backend SQL server databases (DBs) were running long so they started using the
SQL plug-in to perform incremental backups of their SQL databases. 

What should you advise the customer? 

A. More storage space is needed to back up the databases. 

B. SharePoint content DB will not be backed up with SQL plug-in. 

C. Granular level recovery is supported with the SQL plug-in. 

D. The SQL plug-in can be used for SharePoint Disaster Recovery. 

Correct Answer: A 
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